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YA T e | B T ' £H
st fh Fifk | B (kg) e%R () i hE 2 7l (BA7)
V3002 =4 () | I 2,754| 1,080 324 324 | BN tkg
Y3011 BAM (E) 1,189 486 486 119 | BN 3kg N
31700 ¥ ¥~ 30 324 108 108 108 | B 34—
31900 AX 15 5,303 | 432 378 216 | BN 15kg
34300 | Ao 9 508 11 11 11| BH TK
34308 BT 10 842 16 16 16| B 524
34330 Bra 18 1,970 43 5 5| BH 904
34100 #AM 86 12, 290 38 36 11 BA 4304 i
34200 /I 76| 8, 867 162 119 65 | BN T6kg
34500 E—= 19 2, 453 162 162 32 BA 19kg
34570 NTF Y7 2| 562 49 | 49 43| B 128
Y3033 ZeAEL 75| 16, 740 324 | 324 108 | B 75kg )
36200 EEnE 50 2,916 65 | 54 54| B 50kg
36600 7-ErX 50 2, 700 54 54 54 B 50kg
34930 LA > 52 5, 141 43| 22 1 BA 174K
34980 ~b ¥ 18 1,350 54 22 22 | B 6LA
35940 |AETEAGAE 200 91, 228 594 | 432 378 | BN 200kg |
Y3133 | 5555 | 1 11 11 11 11 B kg |
34800 B< b ‘ | 15 4, 695 36 | 32 22 BN 146% 7 b
34600 LL&ESDB L [ ; 3 335 216 | 108 108 | 514 3ke
48000 F U An ‘ 95 13,975 875 756 504 | B 19(E
Y4010 /NETUV 106 23, 544 540 486 281 | B 53E |
Y4003 —=2—Amy 11 4,401 135 119 119 | BH 358 B
49100 NFF g 270 270 270 270 | BN 1A
49470 | RNy g 7 — 82 61, 889 140 54 3B BN 82418
71010 K3 3,618 32 16 16 | BN 180
71011 | R 7L —2% 40, 122 43 43 18| B 1, 1104
Z1030 | RS &+ 562 22 11 NES 10K
71032 KI+&F (R) 1, 080 22 16 16| B/ ES
71040 EAE 1, 717 59 59 54| B 304
71150 LiF 2,311 76 76 = 383
71189 A k' 994 22 22 12| BA 604
71286 ZH—A 7,911 135 130 130 | B 604
53101 1 L AR 2 2,441 1,188] 1,188 1,080 B |2kg
30100 |72V 2 A 3 69 3,316 86 32 32| dLiEE 697
30300 A% L 50 4,428 1,080 756 756 | EH R 54—
30400 ZIE o 2, 668 70 70 0| ERE s |
31100 (3% IP 50 2,700 540 540 540 | BE5 57 —%
33500 T &% ™ 2 891 59 59 59 | 1@ [ 154%
33810 HHIE 4| ,512 76 76 76| IR B 2048
31700 F Xy B 100 7,776 864 756 756 | dLiEE 10—
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5 | s B b &H
ST 54 | R | (e SEM) | mw | mm | mm | (s7)
31700 | & 4~ | | 160 9,072 756 486 432 | BEES 167 — =
31800 139 NAE B 4 2,873] 144 144 144 |BRE 208
31950 HAE 2L 15 3,240 648 648 648 K%y 5hr—2
31900 AF 5 4, 168 486 378 3782%%% 107 (500g)
32800 (25 I's 5 702 27 11 11 B 507k |
34300 72 30 3,564 1,080 540 432 | REA 64—
34400 b b 16| 4,320]  1,080] 1,080 1,080 | K% A==
34460 I=LE L 2L 9 5, 065 119 97 o7 | A P
34100 | #AK 30 1,728| 324 324 216 | I 64— A
34520 RE—~ > 2 810 810 810 810 | H I 12
34571 STV A () 1 691 86 86 86  HE[E 8{H |
34572 ATU A (F) 1 518 65 65 65 #[E Kl

36600 7mEAX 200 7,992| 1,188 864, 540 | =& 104 — =
36600 - MX L 40 5,616)  1,404] 1,404 1,404 | EW 4l —3
33400 L ¥ % 'L 54 7,716 43 43 43 B8 1801H
33600 /S5 U 1 270 108 54 54 | B 443 |
33300 Ty 3l — 24 5,994 86 76 657 AUH  80fH

38100 A& LWziF 10 3,996 43 43 32 | E 1005 7
34910 &K 14 788 119 108 108 BRE 7R |
34930 LA v B 24 1,404 | 22 16 16| BLE 80K
31500 /MAK 12 5, 184 97 97 6 EH 6048 |
32500 |HoiE 2 292 | 22 22 11 BRS 173

37560 I 1 3, 402 486 | 432 378 K%y 8%
42314 v F—F 10 4,536 4,536 4,536 4,536 i L —2
44000 B % B 5 1,836 1,836 1,836 1,836 KL 14— %
48000 F U \2» 41 1,860 648 648 540 | A 8

Y4001 RZEA 1 5 L 5 3,024 3,024 3,024 3,024 EIRE 1r—% |
49100 AFF ‘ 120 13,446 1,728 1,242 1,242 74U Er 10F—2A |
Y5006 Z45P (841) 100 28,015 2,884| 2,840 2,732 |f@ERE  104—= |
Y5006 IR (B4 ‘ 56 14, 040 183 183 154 BB 80%vs |

&t 2,318 499,516 |
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